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(Select the one that is best in each case)(24%; HMEFHMUBERHEL)

1. Minimum aortic pressure during the cardiac cycle is attained

A. immediately after closure of the aortic semilunar valve
B. immediately before opening of the aortic semilunar valve
C. immediately before opening of the atrioventiricular valves

D. in mid-diastole

2. Transport of oxygen and nutrients across most capil]ai'y walls occurs primarily by
A, active transport .C. bulk flow E. filtration

B. vesicle transport D. diffosion

3. Which of the following statements is correct?
A. Baroreceptors are strefch receptors.

B. The Frank-Starling mechanism of the heart states that an increased venous return will normally resuit in a

higher heart rate.
C. The P wave corresponds to contraction of aivia;

D. Pulmonary edema is the resultof right heatt failure.

4. In which of the following conditions is the arterial partial pressure of oxygen reduced?
A. anemia C. CO paisoning

B. pulmenary hypoventilation D. moderate exercise

5. Which of the following statements about respiration is correct?
A. Lung compliance is reduced in emphysema.
B. Qbstructive lung diseases have decreased airway resistance.
C. During inspiration, intrapleural pressure becomes more negative.

D. Contraction of the diaphragm increases the rate of air flow during forced expiration.

6. In human, hemoglobin is nearly saturated at the normal resting oxygen partial pressure of mixed

venous blood.

A 5% B.25% C.50% D.75% E. 100%




AL EBAREN T OREEERLBEREARRA
#B HHAERSE H3E 494
£ 3 Rz% 3 ®

7. Which of the following statements about respiration is False?
A. During heavy exercise, arterial partial pressure of CO; decreases.
B. An increase in arterial H' conceniration is detected by the central chemareceptors.
C. Hemoglobin has a lower affinity for oxygen during exercise due to increased temperature and
decreased pH
D. The neurons responsible for the cyclic nature of respiratory-muscle function are located in the

brainstem.

&. Which of the following statements is False?
A. Increasing the GFR will increase the excretion rate of sodium.
B. Potassium secretion is stimulated by éldosterone.
C. An increase in the reabsorption of solutes will decrease water reabsorption in the proximal renal tubule.
D. The Joss of 0.5 L sweat would stimulate a greater increase in ADH secretion than the loss of an equal

amount of blood plasma over the same period of time.

9. Hypoventilation is a cause of
A. metabolic acidosis C. metabalic alkalosis

B. respiratory acidosis D. respiratory alkalosis

10. The following results are obtained in a renal fanctional test: U/P inulin = 200,
U/P sodium = 2.0, U/P osmol = 4 (U/P = urine/plasma concentration ratio}.
How would you define this functional state?

A. Osmotic diuresis B. Water diuresis C. Antidiuresis D. Renal failure

11. With regard to gastric secretion,
A. the total amount of HY, K™-ATPase present in an unstimulated parietal cells is low.
B. H is secreted across the basolateral membrane of parietal cell the by the H, K*-ATPase
C. HCO; leaves the parietal cells at the basolateral membrane, and its down hill efftux powers the uphill
entry of Cl™into parietal cells

D. CI is secreted into secretory canaliculus via CI” active transport protein.

12. The enteric nervous system is found in what layer of the gasirointestinal tract?
A. Serosa C. Muscularis

B. Submucosa D. Mucosa
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